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(1) Suha buys 17 rolls of wallpaper costing £9.40 each.

Work out the total cost of her wallpaper.

(2) Youssef buys 17 flower pots costing £1.30 each.

Work out the total cost of the flower pots.

secret X sign (10) answers Q1: £159.80 Q2: £22.10 Q3: £193.80 Q4: £178.60

(1) Suha buys 17 rolls of wallpaper costing £9.40 each.
Work out the total cost of her wallpaper.

(2)  Youssef buys 17 flower pots costing £1.30 each.
Work out the total cost of the flower pots.
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(3) A shop pays £5.70 for each t-shirt.
The store buys 34 t-shirts.

Work out how much the shop pays for the 34 t-shirts.

(4) Nora buys 47 fence posts.
The posts cost £3.80 each
Work out the total cost.

(3) A shop pays £5.70 for each t-shirt.
The store buys 34 t-shirts.

Work out how much the shop pays for the 34 t-shirts.

(4) Nora buys 47 fence posts.
The posts cost £3.80 each
Work out the total cost.
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